
                ラプラス変換表 

                        𝐹(𝑠) = ℒ(𝑓)                                   𝑓(𝑡) = ℒ−1(𝐹) 

1 δ(𝑡)     
1

𝑠
                                          𝑈(𝑡) = 1 

1

𝑠2
                                                                                                      𝑡 

1

𝑠𝑛
                                                                                                   

𝑡𝑛−1

(𝑛 − 1)!
 

1

√𝑠
                                                                                                   

1

√𝜋𝑡
 

1

𝑠 − 𝜆
                         𝑒𝜆𝑡       

𝑠

𝑠2−𝜆2                                                                                                     cosh𝜆 𝑡                                              

𝜆

𝑠2−𝜆2                                                                                                      sinh 𝜆𝑡                      

𝑠

𝑠2+𝜆2                                                                                                       cos 𝜆𝑡  

𝜆

𝑠2+𝜆2                                                                                                       sin 𝜆 𝑡  

𝑒−𝜆𝑠                                                                                                       δ(𝑡 − 1) 

𝑒−𝜆𝑠

𝑠
                                                                                                         𝑈(𝑡 − 𝜆)  

1

(𝑠 − 𝜆)2
                                                                                                    𝑒𝜆𝑡𝑡 

1

(𝑠−𝜆)𝑛                                                                                                  𝑒𝜆𝑡  
𝑡𝑛−1

(𝑛−1)!
                                       

1

√𝑠−𝜆
                                           𝑒𝜆𝑡 1

√𝜋𝑡
 

𝑎𝑠+𝑏

(𝑠−𝜆)2                                            𝑒𝜆𝑡{𝑎 + (𝑏 + 𝜆𝑎)𝑡} 

 

𝑠−𝜇

(𝑠−𝜇)2−𝜆2                                           𝑒𝜇𝑡 cosh 𝜆𝑡 

𝜇

(𝑠−𝜆)2−𝜇2                                                                                                  𝑒𝜆𝑡 sinh 𝜇𝑡           

                                                                     



𝑠−𝜆

(𝑠−𝜆)2+𝜇2                                                                                           𝑒𝜆𝑡 cos 𝜇𝑡 

𝜇

(𝑠−𝜆)2+𝜇2                                                                                      𝑒𝜆𝑡 sin 𝜇𝑡 

𝑠

(𝑠 − 𝜆)2 + 𝜇2
                                                                               𝑒𝜆𝑡 (

𝜆

𝜇
sin 𝜇𝑡 + cos 𝜇𝑡) 

1

{(𝑠−𝜆)2+𝜇2}2
                                      

𝑒𝜆𝑡

2𝜇2 (
1

𝜇
sin 𝜇𝑡 − 𝑡 cos 𝜇𝑡) 

𝑠

{(𝑠 − 𝜆)2 + 𝜇2}2
                                                    

𝑒𝜆𝑡

2𝜇2
{(𝜆 + 𝜇2𝑡)

1

𝜇
sin 𝜇𝑡 − 𝜆𝑡 cos 𝜇𝑡} 

1

{(𝑠 − 𝜆)2 + 𝜇2}3
                                                

𝑒𝜆𝑡

4𝜇2
{(

3

2
−

𝜇2𝑡

2
)

1

𝜇
sin 𝜇𝑡 −

3

2
𝑡 cos 𝜇𝑡}  

𝑠

{(𝑠−𝜆)2+𝜇2}3              
𝑒𝜆𝑡

8𝜇4 {(𝜆(3 − 𝜇2𝑡) + 𝜇2𝑡)
1

𝜇
sin 𝜇𝑡 − (3𝜆𝑡 +

                                                                                                                                𝜇2𝑡2) cos 𝜇𝑡} 

1

𝑠𝜆                                         
𝑡𝜆−1

𝛤(𝜆)
 

1

(𝑠−𝜆)𝜇                                      𝑒𝜆𝑡 𝑡𝜇−1

𝛤(𝜇)
 

1

𝑠𝑛√𝑠
                                                                                    

4𝑛𝑛! 𝑡𝑛

(2𝑛)! √𝜋𝑡
 

1

(𝑠−1)√𝑠
                                                                              𝑡𝑛erf√𝑡 

1

𝑠√𝑠+𝜆
                                      

1

√𝜆
erf√𝜆𝑡 

1

𝑠
exp(−𝜆√𝑠)                                 1−erf

𝜆

2√𝑡
 

1

√𝑠
 exp (−𝜆√𝑠)                                                                      

1

√𝜋𝑡
exp (−

𝜆2

4𝑡
) 

exp(−𝜆√𝑠)                                                                    
1

2√𝜋𝑡3
exp (−

𝜆2

4𝑡
)        

√𝜋

2
 exp

𝑠2

4
erfc

𝑠

2
                                   exp(−𝑡2) 

−
𝑐 + log 𝑠

𝑠
                                                                                   log 𝑡 



( 𝑐はオイラーの定数) 

log (1 +
1

𝑠
)                                                                           

1 − 𝑒−𝑡

𝑡
 

log
𝑠 − 𝜆

𝑠 − 𝜇
                                                                                 

𝑒𝜇𝑡 − 𝑒𝜆𝑡

𝑡
        

1

2
log

𝑠+𝜆

𝑠−𝜆
                                   

sinh 𝜆𝑡

𝑡
 

tan−1
𝜆

𝑠
                                                                                 

sin 𝜆𝑡

𝑡
 

tan−1 2𝜆𝑠

𝑠2−𝜆2+𝜇2                             
2

𝑡
sin 𝜆𝑡 cos 𝜇𝑡 

tan−1
𝑠2 − 𝜆𝑠 + 𝜇 

𝜆𝜇
                                                         

𝑒𝜆𝑡 − 1

𝑡
sin 𝜇𝑡 

𝑠2−2𝜆2

𝑠(𝑠2−4𝜆2)
                                  cosh2 𝜆𝑡 

2𝜆2

𝑠(𝑠2−4𝜆2)
                                  sinh2 𝜆𝑡  

𝑠2 + 2𝜆2

𝑠(𝑠2 + 4𝜆2)
                                                                       cos2 𝜆𝑡   

2𝜆2

𝑠(𝑠2+4𝜆2)
                                   sin2 𝜆𝑡 

𝑠 cos 𝜇−𝜆 sin 𝜇

𝑠2+𝜆2                                 cos  (𝜆𝑡 + 𝜇)  

𝑠 sin 𝜇+𝜆 cos 𝜇

𝑠2+𝜆2                                 sin(𝜆𝑡 + 𝜇) 

 
𝑠2−𝜆2

(𝑠2+𝜆2)2                                                                                 𝑡cos  𝜆𝑡 

2𝜆𝑠

(𝑠2+𝜆2)2                                                                                    𝑡 sin 𝜆𝑡      

1

√𝜋𝑠
exp

𝜆2

4𝑠
                                                                           

cosh 𝜆√𝑡

𝜋𝑡
     

1

2√𝜋𝑠3
exp

𝜆2

4𝑠
                                                                            

sinh  𝜆√𝑡

𝜆𝜋
 

1

√𝜋𝑠 exp(−
𝜆2

4𝑠
 )                                                                        

cos 𝜆√𝑡

𝜋𝑡
      



1

2√𝜋𝑠3
exp(−

𝜆2

4𝑠
 )                                                                            

sin  𝜆√𝑡

𝜆𝜋
 

√√𝑠2 + 𝜆2 
− 𝑠                                                                    

sin  𝜆𝑡

𝑡√2𝜋𝑡
 

        √√𝑠2 − 𝜆2 
+ 𝑠

𝑠2−𝜆2                                                                 √
2

𝜋𝑡
cosh 𝜆𝑡   

√√𝑠2−𝜆2 
−𝑠

𝑠2−𝜆2                                  √
2

𝜋𝑡
sinh 𝜆𝑡   

    √√𝑠2+𝜆2 
+𝑠

𝑠2−𝜆2                            √
2

𝜋𝑡
cos 𝜆𝑡   

√√𝑠2+𝜆2 
−𝑠

𝑠2−𝜆2                                 √
2

𝜋𝑡
sin 𝜆𝑡     

1

√𝑠2+𝜆2                                                                     𝐽0(𝜆𝑡)(0位のベッセル関数)  

 


